| number of missing inner layers

10

Ratl

mean hi

<hits>vs n

Ratio

missing_inner_layers

l= Entries 120
E Mean 0
r Std Dev 0
10_15— missing_inner_layers
= Entries 110
r Mean 0
Std Dev 0
1072 e
E missing_inner_layers
- . Entries 110
3| . I mean 0
10 E Std Dev 0
107
10—52_ serrdeesedeeecdeen
105@.... T P T P P T T T
—
0.95 : . . . . . . . . .
0 05 1 15 2 25 3 35 4 45 5

| number of missing outer layers

missing_outer_layers

l= Entries 120
E Mean 0.03333
r Std Dev 0.1795
10_15— | _missing_outer_layers
E Entries 110
r Mean 0.01818
2 Std Dev 0.1336
10°F T T
E missing_outer_layers
- . Entries 110
-3 . I mean 0.01818
10 E Std Dev 0.133
107
-5
10°F
01056‘3, podoo o bl b b b by
T o
o —
L
005
0 05 1 15 2 25 3 35 4 45 5

m—— DQM_V0001_R0O00000001__Global__cmssw1000time__RECO
=== DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
m——— DQM_V0001_R000000001__Global__mkFitNewALL1000time__RECO

40

35

30

25

20

15

+10

[y

——

0.95
=3

Entries 120

Mean 18.57
Std Dev 3.076
L [ 1

Entries
Mean

S . B B P SEEEEEERES Troenees

© L .

o F :
0.8__""' TTL "I T '_" i o= :' """"
0.6}----“-.» ------------ HY odeneneeee Fooeeees
10 15 20 25 30 35 40

[Nofreco track vs pT |

track hits

num_reco_pT

107}

1072

1073

10

i
S
(4]

Entries 126
Mean 41.61
Std Dev 28.4
|_reco_pT
Entrieq 116
Mean 39.43
Std De] 27.83
: I
num_reco_pT
Entries 116
Mean 39.43
27.83

Std De

=
2

Ratio
=
B N

o
©

©

iy
o
I8




	Contents
	Page 1


